97940 B iBREWE , TS DIN71412 , B & | Zih 45° , B

7= miiEA

mE
ML 1.4305,

WA
Ml B, E4 550 HV 1, B4ESE,
T8N , =,

BR:
B BIEERAHT (EHR ) B8, IHBLCERTHANRE TR
WATEBRCRBMNE, ARAEAARZE  XHBYS 2RESRTE

HBRRWERE |,
{5\0
~A
~ Sw
r

97940-1206100 B 45 R |, HARA GED 10,5 M6X1 23 55 9
97940-1208100 B 45 @R, WARA Wl 10,5 M8X1 23 55 9
97940-1208125 B 45 AR |, HAA M 10,5 M8X1,25 23 55 9
97940-1210100 B 45 HRIX , TAA W 11,5 M10X1 23 55 1"
97940-1210150 B 45 HiRIR |, WAA B 11,5 M10X1,5 23 55 11

97940-1218 B 45 R |, HARA M 1,5 R1/8 23 55 1"

97940-1214 B 45 @R, WARA EED 12 R1/4 23 55 14
97940-2206100 B 45 HRIR , TARA S 10,5 M6X1 23 55 9
97940-2208100 B 45 HRIX , TAA TN 10,5 M8X1 23 55 9
97940-2208125 B 45 @R, WARA W 10,5 M8X1,25 23 55 9
97940-2210100 B 45 RN |, HAA M 11,5 M10X1 23 55 1"
97940-2210150 B 45 @R |, WARA T 11,5 M10X1,5 23 55 11

97940-2218 B 45 HIRIR |, TARA TEN 11,5 R1/8 23 55 11

97940-2214 B 45 HRIX , TARA M 12 R1/4 23 55 14

© norelem www.norelem.com



97940 B BAEW , # /T4 DIN 71412 , B B, i 45° , Af

© norelem www.norelem.com



